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Question Number : 1 Question Id : 51714410806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does "learning environment" refer to in the context of education?
&m&éoém&e@ﬁ "ol ararddnin” el 3

Options :

The physical location of an institution.
;’;oé sy &8

1. %
The number of students in a classroom.
5 % S55a65) chrtgi%}t: o8y
The arrangement of furniture in a classroom.
SBKHS DESB esndY
3. ®
The overall context in which learning takes place.
4 CIALNSENY 2260 Bwdgsn S [elaleNtany

Question Number : 2 Question Id : 51714410807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Postgraduate education falls under which level of teaching?
FSEEE Dy @ HB G %;on:tfiﬁ &0EN0H

Options :



Elementary education
[ERHanE D3

Secondary education
E_':Dgéf'édﬁa Alaly

Tertiary education
v éﬁj@@ﬁj D

\Vocational education
4 % aﬁﬁ 3]655

Question Number : 3 Question Id : 51714410808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

In offline teaching, where do most interactions between students and the
instructor occur?
58S S5sst, &m@ﬂjﬁ}m S el HBNG Sgen aih ?g@{}

Options:

Virtual discussion boards
. ééﬁé@ oy ﬁﬁéoﬁr;}:n

Online chat rooms

5 % ©BOBS Fo8 Kithen



Social media platforms
sl Setigan S6%en

Face-to-face in the classroom

4 SBKS KBS Sogre S0

Question Number : 4 Question Id : 51714410809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

What is the primary focus of SWAYAM Prabha ?

29aDo (547 @BnE) (GrEans S\ 2B ?

Options :

Offering degree programs online.
©88:58° B seEgEsne H8TES

Providing paid specialized courses.
300D HegE Enen domEn Jcsned

2. %
Broadcasting educational content through TV channels.

3 ¢ 8 ort) oxoe Doy DAY, (Hdo Safnes
Conducting in-person workshops and seminars.
Sgohore Stnakaen, HEnen JBerodi

4. #

Question Number : 5 Question Id : 51714410810 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Online quizzes, interactive simulations, and virtual labs are examples of:
©R88 HEen, HBHB eEsnen, SENPS (HArtTon B8 Guesedn

Options :

Traditional teaching methods
Foloeahy Ssar HGeen

1. F
ICT-based assessment tools

5 ICT- esprBe8 3000 DAY
Qutdated educational technologies

3 & S00T0BY Doy FoB8ESen
Non-interactive resources

4 % ‘a’naﬁéﬁéiﬂ Syatien

Question Number : 6 Question Id : 51714410811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Experimental research involves:
(D& 58858 edm

Options :



Observing and describing phenomena without intervening
éﬁééo 088 o iﬁE}E DAce HB8ed DRGs

Manipulating variables to establish cause-and-effect relationships

5 @ o8 (DR Domopredh Dogrobohi® Jemodeid Eavlet) Scsnes

Conducting surveys and interviews to gather opinions
wdgrch DESHD ﬁéé@b, z068m5en DBIerone

Analyzing historical documents and records
4 % TOEg)E dero, bsho A

Question Number : 7 Question Id : 51714410812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Post-positivism in research suggests that:
HBEEHE° By Aredded GrdoHds

Options :
Objective truths can be directly accessed without the influence of human

perception.
Qe garsd derei,dirdd (e €8 8o [De&sEore 366’35}&@.

1. %
Subjective experiences play no role in shaping research outcomes.
- 588080 Hhare Eﬂﬁééﬁ}gﬁa@ﬁ HFars ehifare aklE Gotkth

3.v¥



While objective observation is important, researchers’ interpretations also
matter.

QeyBares 5886 sy, 508550 DHBemen il araingge Hararon.

Research should solely rely on abstract theories rather than empirical
evidence.

508558 CINVARRY Lo i‘vgvgc“:’m_;',_} 58060, wo|ise ?;}mgoﬁﬁ@_;’g il
4 % OGPEHTRD.

Question Number : 8 Question Id : 51714410813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In academic writing, plagiarism refers to:
QG5 Vo0 SS508® nRirBa0 @b

Options :

Using too many references in a paper
28 ajnéﬁa’méﬁ TPEP GTIPaPOETS) Ga)aiPiian

1. %
Quoting a source directly without citation
) o wHBpHo sor (DegEore HHD °tHe

Rewriting someone else's work in your own words
3 % add e HAD A ﬁéﬁéémﬂﬁﬁ SOA (Iecinéd

Properly citing sources to give credit to the original authors

. oden e TErHd SHhed S0 6oroohe
4,



Question Number : 9 Question Id : 51714410814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the typical order of sections in a research article?
2.8 HB8 8 ajnac}f:foéﬁ Derereen Heasreen (B50an 8.

Options :

Methods, Introduction, Results, Discussion, Conclusion, References
a’:utge‘_‘i}m, HBBAHEm, HDeren, Yy, HoHo, Ef_ia:ém

Introduction, Methods, Results, Discussion, Conclusion, References
HBBcHam, éféeiéom:u, PDaren, ), dohoD, ﬁtﬁm?ﬁm

Introduction, Conclusion, Methods, Results, Discussion, References
HBBcHEm, dwhod, égéﬁm, POaren, Y, é;gia:c‘(a@:]

Results, Methods, Introduction, Conclusion, Discussion, References
HOaeen, ﬁtge‘ﬁne_n, 2bSahen, Hwhoc, KB, ﬁ;ﬁa}a‘ﬁﬂ}

Question Number : 10 Question Id : 51714410815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

What is the purpose of the "Acknowledgments” section in a thesis?
?:mgcué aﬁéf:«:ﬁ}meﬁﬁ é@é@éﬁ} Derldn ©SH830N

Options :



To list all the references used in the research
588055680 éﬁg}é@ eflem SO DSSnd

1. %
To introduce the research methodology
5 % 588858 588 HBIScho Bsne
To acknowledge and thank individuals who contributed to the research
5888555 5%;1&33 é@éj@otﬁﬂé 1800, Hgruren dend)és
3.
To present counterarguments to the research findings
4 % $568%5% pDErer ) (HDHEreOTSHe Sfovnios
Sub-Section Number : 2
Sub-Section Id : 517144441
Question Shuffling Allowed : No
Is Section Default?: null

Question Id : 51714410816 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval
to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:
K&oE: (Botd mi@id ddrardo sgrdore Q. 11:506 Q 15 D& Jsrgraron

[arahob.

The mansion of Ebenezer Storer, an extensive edifice of wood three stories in height,
was erected in 1700. It was situated on Sudbury Street between two trees of great size
and antiquity. An old English elm of uncommon height and circumference grew in the
sidewalk of the street before the

mansion, and behind it was a sycamore tree of almost equal age and dimensions. It
fronted to the south with one end toward the street. From the gate a broad walk of red
sandstone separated it from a grass-plot which formed the courtyard, and passed the
front door to the office of Mr. Storer. The vestibule of the house, from which a staircase
ascended, opened on either side into the dining and drawing rooms. Both had windows
towards the courtyard and also opened by glazed doors into a garden behind the house.

2836 P66 Ging) o, Hurth wodii IHS KrsS DIBHS ¢fisko, 1700 &°
ABposatod. a6 $60b @éfe‘iﬁ Both Y Joedd By gy sob.gPSo Fwotd 58
SDered® oFrinds o) HBch HipSed EOAS and @of Jf) 3ty Bbrap
B =) o8 Tror) Darn Schi) Hodn Seoden DAY 28 &) 36 58
058 B8m0 SHre Sofod. N H08 B =NETonS’ ErES dTeDS SKE arh,
RE 28D b, SIJTEE 5555 SO Enoth e 3653;)@“0)3. 508 Hakoe
(88 ok Héy 3ndB GIoR B ([Gronoh Erows™d adEder Dison.
00688 DBSD) aakey 6I200. SAh Senden oo 50} 8 68 sheea
%o &ob.

Sub questions

Question Number : 11 Question Id : 51714410817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The mansion of Mr. Ebenezer Storer is old and
SJJQE AR 8] ﬂ‘ﬂ;ﬁﬁ :ﬂa;é@r o arsh Hbatm

Options :

stately
KoDBH6.
1.4 e



in ruins
BB OING

uninhabitable
K}aﬂmﬁﬁﬁéo 506

inhospitable
4 % ©8BOSIG

Question Number : 12 Question Id : 51714410818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The mansion was built of
EafnTale) &b Eﬁé@ém&o&

Options :

red stone
1. % o8 Teom

sand stone
. =¥ Teon

wood
Eﬁé@,

stones
U“Eﬁ;}



Question Number : 13 Question Id : 51714410819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The courtyard is filled with a patch of
e N0 B & Dol &od

Options :

grass
g

wilderness
65?55:&50

low trees
D) ey

flowering pots
arey Byotsen

Question Number : 14 Question Id : 51714410820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The staircase opened into on one side.
el 3 &) Dép &8 éﬁ:&@ﬂeﬂ.




Options :

garden

1. % e

courtyard
, % [(@rofeso

dining room

3 ¥ Hhasamer 16

office

4% sno‘jﬁg@cﬁjo

Question Number : 15 Question Id : 51714410821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The word that means- ‘wide’ in the above paragraph is
2 aoes Dol o ©go a’;ﬁgj 250

Options :

Extensive

| B

circumference
ffaé:g%”@e‘ﬁ

2. %

dimension
3 % BP0



uncommon
ChvEnEe [ v

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Is Section Default? :

3
517144442
Yes

null

Question Number : 16 Question Id : 51714410822 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

A communication prevents misunderstandings and helps in

establishing a constructive relationship

VRS oarTzol Jardiiod SHidn Jogmrd)E Somoged) DB\BSt0S®

RartChHthenoh.
Options :
positive
1 ¢ FeioEee
passive
5 % Jlepcd
reflective

L x 6B 085585 ¥rlis

retentive
4 % oedes E8 He



Question Number : 17 Question Id : 51714410823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Lack of effective skills is a major barrier in the teaching-learning
process.
ARt 9T BHBaHe® (Hped ©86%50 ﬁa’)ﬁgéoé@é
Glfvtnte
Options :

stress management
2,88 JBres

listening
DVEE JFadesgo

crisis management
K:uogﬁﬁ ABeTEs

time management
2enad ABeE5ees

Question Number : 18 Question Id : 51714410824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Successful intercultural communication depends greatly, when one
other cultures.
=t ﬁoﬁg&é}@:@ &oiiéo Hon, @Deﬁé&@f}g@,& Hogres @tinbEen

Boee Frdod

Options :

praises
1 % (2808

respects
2. faigstle)

practices
LIty

helittles
Eﬁ@ Sy

Question Number : 19 Question Id : 51714410825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

When different people look at the same thing differently, leading to ineffective

communication, it is called barrier.
3’5563 sSgghen 28 AT DPyore L, o SH Siraroeis
m&@?&é@é}, R @08 wotrth
(]
Options :

Psychological
1% BB



physical

, % &8

emotional
w.ﬁa{:ﬁéﬁ

perception

J"I'EI
4V SNIPaTR

Question Number : 20 Question Id : 51714410826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

‘Twitter' and ‘Linkedin’ are examples of media
‘ﬁé&]ﬂg’ 0Bcw '@0%5 : SrggEr8 Greietesen

Options :

social
STy

digital
&Bees

Print
s0o(Bes

Traditional
R0TPCNE DR



Question Number : 21 Question Id : 51714410827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
5, 10, 40, 240, 1920,
Options :

| % 19020

19200

19220

21120
4. %

Question Number : 22 Question Id : 51714410828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

DMP, IOM, |, SS5G, XUD
Options :

1. % MPI



MaQl

2. %
~ NPJ

3. %
NQJ

4. ¢

Question Number : 23 Question Id : 51714410829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word KITE is coded as 4567 and the word
RATE is coded as 8967, then how is the word TAKE coded in that language?

2.8 03) 6 A&’ KITE % HmR) 4567 H0A RATE eF ST
89671 §°6 T W, & 2 TAKE 0% N er 86 Tl

Options:

| 6974

, i 6794

6479

6947



Question Number : 24 Question Id : 51714410830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Two numbers are in the ratio 2:7. If each is increased by 12 then the ratio of the
resulting first and the second numbers would be 1:3. The second numberis___

DO oL 2.7 DAIBES e ow. (e 2,563 12 DoV S,
HOSOM J0¢5e3 OO B0 AOWES NS 1:3 e26he0R. DO
QoRE_?

Options:

84

o 112

. 126

o 168

Question Number : 25 Question Id : 51714410831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

If the cost price of 16 articles is equal to the selling price of 12 articles, The gain
percentage is
16 360) 8%y ¢ 12 505 @625 HEH DSTH0 eoN®, e7e

¢

Feh0



Options :

| % 16.66%

20%

25%

33.33%

Question Number : 26 Question Id : 51714410832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Statements:

All hills are mountains.
Some rocks are mountains.
All rocks are ropes.

o8 Edcden:

FoBO) DG,
') doen b [Eren.
Conclusions:

l. All hills are ropes.

. No hill is rope.
1. Some ropes are definitely hills.

BT JTeN:

. SoBO) =T.

II. 2 §0cs S = 5.

1. Q) & ) JS0m Fodsen.

Options:



| follow

Either | or |l follow

2_ W
Il follow
3.
4 Either Il or [l follow.

Question Number : 27 Question Id : 51714410833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

In a class of 10 students, 110 students passed in chemistry and 120 students
failed in Maths, 30 students failed in both the subjects. How many students in
the class failed in at least one subject?

10 00 Derztend) SEKReS” TR 110 H08, HedesoS’ 120 HOA
D sHen oneair i, o Kj@&gff 30 DOO DT EeD

20NOAT . HEHBES” 05D Dsen N0 2.8 PP
OO0 LR?

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

120
1.



160

3 140

4 180

Question Number : 28 Question Id : 51714410834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

How is my father’s father’'s only daughter-in-law’s brother related to me?
S 90 28RSy, 58 35038 5L arogdyo Da0e3?

Options :
Father
1. % el

Paternal Uncle

5 T‘;Jﬁﬁa&vﬁ&
Maternal Uncle

3 ¢ éﬁéjdﬁ}g
Cousin

. % K85



Question Number : 29 Question Id : 51714410835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not correct with reference to anumana according to
classical Indian school of logic?

P

8O ROG0H® AL @3 e85 [D5E0 BHEPTIE H0DOOOT) &
1808 &3S HBIO TR DO?

Options :

Linga/Sadhana is the middle term
DoRPSH @6 &0gls S0

Paksa is the minor term
28, e é‘.ll?ﬁcl D50

Sadhya is the major term
3 % WP @30 BHerd H%o

Hetu is the minor term
P @36 &Eécl S50
v

Question Number : 30 Question Id : 51714410836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which one of the following is true with respect to the first figure of categorical
syllogism?
5085 T0E) FncheEs @0TH H0220H0D & 1208 TBS A Hesz0?

Options :

The middle term is the subject of the major premise and the predicate of the
minor premise
D D0 VA DT [Hababho TBE) 9040 HOOL D) essd8ea

| AB0EY, |raredSo

The middle term is the predicate of the major premise and subject of the
minor premise
20658 D0 A DY) [Habdhbo TINEY (DT 365856 oDOO5D N6

, x OB0E) [rareso

The middle term is the subject of the major premise and the predicate of the
conclusion

- 0G5 DB0 OO DTN eTE0 HOGW SN0 TBE), ©0F0

The middle term is the subject of the minor premise and the predicate of the
conclusion

0E: N0 RO DY) Habdho HO0W SN0y ABwE) @0%0

4, %
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Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.
f1e0E: 180C Red 52060 Qadrerdio esdorr Q. 31 oG Q. 35 (294) ©%
QPN (POD0E.

In an University, the strength of male students is 1500, Female students is 1200
and Faculty is 250. The distribution of percentage of strength in various subjects are
given in the following barchart.
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Which of the following is the maximum?
808 ¢3S HBRN0 DO?

Options :

Number of female students in chemistry department
| % SR derrosS e dorshe Sows



Number of female students in Botany department
5 ¢ T Jeriiody Sdrer dersthe dows

Number of faculty teaching Management

, x DL DO B3DOR 53R Howdg

Number of male students in chemistry department

4w TR DerifoS i DoEsde> Hoays
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Zoology students pay an annual fee of Rs. 25,000 each. The average salary of
each Zoology faculty member is Rs.10,000 per month. What percentage of the
fees collected are paid towards salary for the faculty?

23068 T (2Pare)2d) doriden 0% e Gr. 257,508 25,000. (e
23060 T Q(2Fr02d) aﬂéé} ZD1R e 22650 T 6r.10,000. oSedTeN
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1. 56%

L« 51%
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What is the ratio of the number of students taking Maths, Physics and chemistry
to that of students taking Botany, Zoology and languages, after rounding off the
respective totals to nearest 1007

W oy §I ot LE4
He3eb0, 235 DO 3R VO Aerzde dows, D), erareed
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i flomy
1.4
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In which Department is the ratio of faculty to students, the lowest?
ETEHEIO DD VT shedr DA & V2P0 eoehser Y0P &0A?

Options:
Botany
Chengistry

2. Sl
Language

3 % CARAY

None of the above
. HE3S A B
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If 25% of the faculty members teaching management are absent for a particular
academic year, then approximately how many faculty will be available for every
batch of 40 students of Management in that year?

TS ST @TPHNOS’ 25% H0A DY) i 03¢5 )T°R8
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ASCI| stands for ?
o). GoR.P.5.0 &b
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v American Standard Code for Information Interchange
American Standard Code for Information Interaction

American Standard Computer for Information Interchange

American Standard Computer for Institutes Interaction



Question Number : 37 Question Id : 51714410844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

........ is a private network within an organization.
& BIDD HoPS® b (RIS IEDGY

Options :

Internet
‘|. E

Intranet

3 % Ethernet

. Hypernet
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e-Granthalaya is a digital platform developed by the ........
a-foprecir 826 308 Sairth 350
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Ministry of Education
g $00(@E0

Ministry of Finance
@gé oo (@&

Ministry of Electronics and Communication
3 v JelgelEY), ém@&éa‘i@ oolB&o

Ministry of Mines

4 % Ko oG
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RAM means ........
TPal &Mre

Options :

Random Access Memory
1.¢

Rapid Access Memory

3 % Remote Access Memory



4. * None of the above
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Which is an example of a cloud-based file storage service?
8155 706 DO o eagedSs %?T:rﬁ& 5% GoeseS?

Options :

Whatsapp

Mozilla Firefox
2. %

» Dropbox

 Instagram
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The target year for achieving the Sustainable Development Goal is...
ReBe E:-éj&'ﬁe:@ e A=Y ﬁj&?&%é Lo Bo

Options :

2025
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Which of the following statements is true about global warming?
(H%05 BBHSE® K HIDD O (HAFED HOGDHSH?

Options :

Global warming has led to large scale deforestation
(HHoS B DY BB e BN 68208

1. %

Global warming has led to a rise in the sea levels

5 o B0 ST [ 5;03}@ 25HHdes obdHoH



Global warming has led to a rapid increase in the population across
several countries

i (202003 J8 DG Bed® morer JKHod HHEOD orbH20H

Global warming has led to a huge amount of waste generation

. (5505 B g6 Eéejmv LA 08208,
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Which of the following gas affects human health by reducing the blood's ability to
carry oxygen to different parts of the body?
e D EB%errred @Kh}éﬁ% BESED é@oﬁ} VYR fjﬁﬁﬁﬂéﬁa =

B arding (Herdédo 3@0&

Options:

Carbon monoxide
5?@5 SnoeenG
1. ¢ s

Carbon dioxide

5 % 590 8 ©8)6

Sulphur dioxide

3 % Senb 8 w86

Nitrous dioxide

4 % 3 5%
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The National Institute of Disaster Management (NIDM) was established

80D D) e 0 EDoDDED 36
Note: For this question, discrepancy is found in
guestion/answer. Full Marks is being awarded to

all candidates.

Options :

September 23, 2002
Qyoat 23,2002

August 14, 2001
ey 14,2001

October 16, 2003
©S2% 16,2003

August 14, 2004
@r"i‘@ﬁ 14,2004
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Where was the first International Earth Summit held?
B Al) @Dﬁﬁmgécﬁj Zedpoe(id HHrado 28R “{mjrs_ao

Options :

1 % Kyoto

5 Rio de janeiro

New Delhi
3_ W

New Yark
4. %
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What do you mean by ‘Shastras’?
Fo|deen e

Options :

Creative literature
aard)E Jeardio
el =



Learned disciplines
> & BB Boleen

Imaginative

L x ST

Creative and Imaginative
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Who was the chairman of NEP 2020 drafting committee?
Q.32 2020 Snaronte @it X% ?

Options :

Kailasavadivoo Sivan

1. %
Dr. K. Kasturirangan
2.
Prof. Yaspal Sharma
3. %

Prof. G. RajaGopal
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Which of the following learning programme originated in India and is considered
as one of the oldest?

230805 (FBododiad, Horsskbmr SBKBoHaE g5 SEEDED B?
Options :

Law
a"r;gdfb GLESTY

Fine Arts
) % ©08 B¥en

Ayurveda
@Cﬁ)}éﬁgﬂﬂ

Management
NBgsTes
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Which is a solution to reduce the progress of climate change?
TERtn S5 HBI ShHoHes HBL)BE

Options:

Greenhouse Gas
DB 208 TN

1. %

Wind Power

5 @ el ¥8

Deforestation
eE38) F{}iﬂﬁéﬂé

Fossil Fuel

4 % Bewa: BOLH
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In which models of Integrated Education Programme is being implemented in
large scale by governmental and non-governmental agencies in India?
R0&05TSEY) (23ghesk, @’}e,’i)é&éeﬁ 50?&@3, Ejﬁg S5, & Bl ey DG

sy S ©EenTmoD.

Options :

Resource model
1 & DB Shoear



[tinerant model

5 % airlEe Sdurae
Both Resource and Itinerant models

580 sHBaSn S Surae
3. v

Dual Teaching Model

8508 8558 B
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Assertion (A): Liberty involves within itself both the individual and social
sides of man's existence.

L3I (A): 5T VA DA 8 TE) 9581e5 B
a8 ey ek $OR G0otnod

Reason (R): Liberty means the absence of constraints and not the
absenceof restraints and limitations.

2R (R): 529 @00 038 ren BEFSEOTD 680 festen
OO HOMWEAED BEFI0 52D

Options :

(A) and (R) are true, (R) is the correct explanation of (A)

(A), (R) BO® DADA™ 5B, (R), (A)B0 ST Dadded
1.¥

(A) and (R) are true, but (R) is not the correct explanation of (A)
, « (A (R)Boc® DADAT OB, 5% (R) (A) B OB Dessen 5260

(A) is true but (R) is false
(A) 2.5 5 (R) &b

(A) is false but (R) is true

(A) €83 5% (R) 2,8
4, %
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Who among the following termed right to life, liberty and property as natural rights
and the main function of the state is to protect these natural rights of the
individuals?

BNOT oTHY, W), SR N TEEON, 55500 Q) & dare
SFE300 88 00 To23s 1T DO 80O FOS 3 T K?

Options :

Aristotle

berédd

1. %

Thomas Acquinas

Do @8 e
2. %

John Locke

20 er§
3.¢

Frederic Hegel
4 % A0S 0O
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Who among the following said that "injustice arises when equals are treated
unequally, and also when unequals are treated equally.?

806 PO DeI "WSPNO NSO HDOHES0DN) I a0
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John Rawls
20 T°O)

Aristotle
b3S
2. % 7
Cicero
- 0
Gandhi
mod
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Match the following kinds of equality List-l with their respective explanations List-l|

808 Deireh § G50 (2D)e-1) e H0D0HSH DSOS (2rd)er-l)

2e508w5084:

List-I

eri)e-|
(Kinds of equality)
(a6 20 I5en)

a. Natural equality
Qar 2 a%0ed S0

b. Social equality
Teal238 Qodlted 80

c. Political equality
23805 eiredeh 50

d. Economic equality
@308 doi7edeb 50

Options:
aoaSen

Options :

List-|
eIl
(Explanation)
(D3559)

1. no discrimination on some artificial ground
§R) 593D @070 2 SF3IGE DS,
NNV TAY

2. distribution of national wealth
208 0N HONES

3. nature has made all men equal
D598 SHNOO0GBA NP0 TR0

4. equal penalties on everyone violating law
PR GOOMOB (b 25303 Qe
CATOINVEVEIBY

5. access of everyone to the avenues of power
OOTE STTOH (2968 2.8,08 (D330

a3 b4 c1 d-2
4
, % a2 b3 5 di
a4 b-1

c-5 d-3

a-3 b-1 ¢5 d-2

4.+
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Consider the following in relation to the Liberal political theory and choose the
correct code:

&0 T250D DT0ERE 020600 (80H 73R HOKB006

DB BN &L DotHF0R:
A. It places the individual and individual rights as the highest priority

26 0558 O 0385196 sTE0)N @eBIHE IS G0TNA0R
B. It relies on the consent of the citizenry for the legitimacy of government power
90 (92065 § O5E0 BE) QS D0 T D3
& 0:0C0e000
B. The ideas of natural rights, liberty, and property are the bedrock of this theory
5723 STELED, W) OGN e e TISeD & VTS HTO
D. It believes that humans are not rational, they should be guided by the
government inputs to make their choices

ST6HEN BTEDCYED SER), D TR D0EOB (2N § AR
o s0° SrORFF0 TAhaEe 26 DE SN0

Codes:
gGen:

Options :

A, B and C only

L A B J0OGW C 7| edad

A, B and D only

A, B o000 D Sehad
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A SHOCW C S
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A, Cand D only
A, C OG5 D S°e5 5D
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Read the following statements regarding ‘Conservatism’ and choose the correct

code:

RS0 (8090 583230)8 0220500 800 arsp o titdsod

D005 BN B JothEod:

A. Conservatism rests on what may be termed particularist scepticism concerning
abstract rational principles.

EPGSTPTi0 e BEPDS sFEAGRN AFEOH N0V
108558 HOFONTH0 @R DOSDT TR STEIA G0N0

B. Conservatives regard rationalism as “metaphysical” in ignoring particular social,
economic and historical conditions.

EreSrarte) TTATTR) (DB Trairets, e0¥ SHBO 0|54
DOVAON DB0T " T BET 0T HOHSI .

Codes:
gGew:

Options :

A only
A 5|55

1. %

B only

5 % B 3¢50

Both Aand B

A HOCSw B Body
3.¢

Neither A nor B

4 x ABT B
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Read the following statements and choose the correct code:

808 55O AR ABN FRD JOHF0A:

A. Multiculturalism is a position that rejects assimilation and the "melting pot”
image as an imposition of the dominant culture.

DTOFR 00,9880 TE 1SS OO “(L5DHSS” DE)
e30DB5 D0DYHe TNE) Q0T B35:900T 0.

B. Multiculturalism prefers such metaphors as the “salad bowl" or “the glorious
mosaic”®, in which each ethnicity in the population maintains its distinctiveness.
2STVSRT00) 9B ETG0 “Ners 57" Bor “NO0HD Swerons” 50e3
EPHTON BRIEA0E, A BrrereS Q 596 26 R |8 2865
5ON &0en0d

C. Multiculturalism regards rights cannot simply be subsumed under human rights

because human rights standards are simply unable to resolve some of the
most important and controversial questions relating to cultural minorities.

DTVSR 09 S0 D50 T80 TIIO0 ST a0y 8065
TE150 FCH20 TN DOVE0T) AP0} Y88 DOEOH 00BN
50 AL DA DeTPTRAIE (207N 3P0 L) |0)edTPEF LN
00200586y
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Which of the following is charged with being anti-political and unable to take an
ethical stand, except that of resistance, disobedience, refusal, or deconstruction
for deconstruction’s sake?

DBDEIN, AP, BE; 5 B Y90 T°€90 §'0 YN0 T°290
ST Tr38ah 958046, THE IDOR BNEDEF S0 5063
DTS 806 83 BAD @)Trmren Irardd?

Options:

Feminist theory
[_?gmc‘ﬁ V050

MNeoliberal theory
o QOST GTPETC V0SB0

Neo Marxist theory
3 % QO S330) )R VP00

Postmodern political theory
 SBEITS0SS oraSadh DTT0S0
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Who among following argued that in all known societies’ relationships between
the sexes have been based on power, and that they are therefore political?

SOV @) JeSrareeS OOTPE sDEE 00T WHTH0 STENG
G 00R, S8 8 T8N GotPahd) 808 TOE S FOOTH?

Options :

Elena Rybakina
DB Berdor

Kate Millett
55 BES

Friedrich Engels
08 donid)

Jana Novotna
B Sod @Y
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The following is a new political ideology based on the position that the non-human
world is worthy of moral consideration, and that this should be taken into account
in social, economic, and political systems:

& 8000 JPIDBG 1HN0W0 FBE D005 0dRAE), rairs, ey,
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Political Psychology
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Read the following statements in relation to the Plato’s Republic and choose the
correct code:

2 83255 020000 808 DM B0 DB BN FEXD

QOTVE0R:

A. Itis a textbook for the Philosopher-Ruler’s training.
2B e (5-rode) 35 6 FH0 2.8 rdiyno

B. There would always be Guardians-in-training in the Plato’s state, and
preserving that training unchanged would be the state’s first priority.
DE 723506 D0 AT TOOHSI-ASH BDAON S0P SHOAD e
35690 3G )00 ST IR0 TPe350 CR0E) INE TS
€50008

C. The aim of that training is to produce just men in the double sense that Plato
understands justice: men who are in fact just and who know what justice is.

e 3% £ TR0E) ©%£0 N0V, DE 705 980 TedF) S
RS G52 HHDO S0P TAN0: VZNE 00T S0T
SO0 TL0H0 @0 ANE O HDVEN.

D. The less difficult subjects of literature, mathematics, music and gymnastics are
followed by the most difficult subject of all, dialectic, or training in philosophy.
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Which of the following are considered as the degenerations of Plato’s Ideal State?
806 383 A D estss) Trars e & g HONS oS EEFON?

A.  timarchy
3370,
B.  oligarchy
2.Omd),
C.  democracy
B350
D. tyranny
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Assertion (A): Aristotle’s chief contribution to political science is to bring the
subject matter of politics within the scope of the methods which he
was already using to investigate other aspects of nature.
(DS (A): T8 T8 @0E3S T (DT NFSE0 JE0D,
pég@@?@ 23 ©0TON IOTOOVTAS bl 951633
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Reason (R): Aristotle the biologist looks at the developments in political life in

much the same way that he looks at the developing life of other
natural phenomena.
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Aristotle’s book of ‘Politics’ contains:
©0re3S BE) 'FDIE) HNE0S ad Gar)ow:

A. Defence of the polis against the Sophist view that the polis exists through
convention only.

T EH500 HORT0oN0 F &AES &) FIY @& PAN0SH
25BBEOTP D D DeDQOTIBO

B. A justification of slavery as part of a well-managed household, and therefore
natural.

2T AELTONDT (9ar0eS ariforr ereh 0 Tho&) g,
290NN &6 AarBNE

C. A discussion of the relationship between the acquisition of wealth and the
management of a household (the original meaning of ‘economics’).
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Which of the following books are written by Machiavelli?
806 73S SrEASrRE) TP HITEn DD?
A. The Prince
& (23
B. The Discourses on the First Ten Books of Titus Livy
O AFL0I0 83 & HY BA 208 @D DOV O
C. The Art of War
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D. Florentine History
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Men living without law in State of Nature, would be men not trusting each other is
the argument of one of the following:
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Who among the following considered that ‘morality existed in the State of Nature
and was capable of being enforced there, perhaps imperfectly, by the voluntary
actions of men, it follows that social contract is an extension of that pre-existing
morality'?
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Which of the following is not matched correctly?
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Locke: An Essay Concerning Human Understanding.
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Rosseau: The Confessions
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J.S. Mill: Two Treatises on Civil Government
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Read the following statements regarding J.S. Mill and choose the correct code:
J. 5. 09 8 H020600 8086 e S0 HBAM BN F&N
DOHE0R:;
A. Mill thinks that social democracy is good in itself as well as having a good effect
on government.
a2 (ET §eD50 D S9FT HODGA eerT (525065503 DO
102750 TPRYER0GR S TR
B. Social democracy in a system of proportional political representation is the ideal
ground for the practice of liberty.
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Consider the following in relation to the Hegelian philosophy and choose the
correct code:
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A. History's rules, and mind's rules are dialectical rules.
2305 QNS V0NN OO 2Ny BWEY NADSTe fedeed) s
MOWNVIDY

B. The rules of historical change and the rules of intellectual method are
contradictory in nature.
B8 St gy DODSTED HOA HE D Tg) AHTen
5275065 DDA E0EFoD

C. Dialectically operating minds can be perfectly attuned to the understanding of
historical dialectic.
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Assertion (A): Hegel thinks that the present does not abolish the past but
completes it.
185 (A): 3830 ey S TOHE TR 8370 BOGA IO
ARATRREY
Reason (R): According to the Hegelian thought, constitutional monarchy re-founds
an old institution on a rational basis, same is true for other social
institutions and customs.
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(A) is true but (R) is false
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(A) is false but (R) is true
L, (A S9) S (R) 2:9)
4.

Question Number : 72 Question Id : 51714410879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Consider the following in relation to the Socialism and choose the correct code:

FAO2r08 Ho0AON 80 73R HOMEE0LI0B HOAN OB TGN

QOHT0R:

A. Socialism as a political movement always begins outside the system, rarely
begins from the inside, which means that at first it lacks institutional bases.

T8aD G500 FAOZB0 IO YT 85558 TeHE
BFE025:0:965060, ST S'HO 0B [arE025:)e06), 0T
S0 TRE0LT D0 (ied ITreN G0cha).
B. Socialists expect existing institutions to be hostile.
FAOPEN 2DE3T &5 doden F(hed 10 SOETFOD 2rDN .
C. Socialism begins with no patronage; all it can hope to do is to persuade.
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Read the following in relation to theory of surplus value and choose the correct
code:
DMHEN eV WFT0TTNE 000D 808 e3Q L3508 HO BN
D JONFOS:
A. The term ‘surplus value’ denotes the difference between labour and labour
power,
THED DEN' 97 DEI0 [Fe OO (Fo 98 03¢ SzErsard)
AT
C. ltis the source both of profit and of capital accumulation.
26 1250 OO PO H0DS0 BoA0E3E Sare0
C. Surplus value is produced no matter how long the working day is.
HDAAN0 0 SO0 ) aDDHED DN 56578 e90)e0d
D. The longer the working day, the more surplus value extracted.
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Read the following statements in relation to the concept of ‘dictatorship of
proletariat’ and choose the correct code:

0890 Q0O 50' @F 2TId50 000N 180B WIS
230G B B FHK DoHE0k:

A. It implies the proletariat using the mechanisms of state violence to achieve its
class aims.

26 |T0ENF0 5 30 ©F 0D FFOOLTRE Tres ar0d BB},
ODO[FPOTPON) GITIPAN0NR) AP0
B. State violence is used exactly the same way the aristocracy and bourgeoisie

used the state during their own periods of hegemony to pursue their class
needs

SO0 SO0 2rDaren .5 SG (HDTFRTO F0 .5 NS
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C. It ‘withers away’ rather than abolishes itself because the old social order does
not necessarily give up easily.
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The ruler's main function in the Confucian state was:
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Options :

to rule according to Vajrayana Buddhism
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to educate and transform the people
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tfo protect the state ruthlessly at any cost
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to spread Buddhist culture in society
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Who among the following distinguished between ‘labour’ and "work'?
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According to the following, "hegemony is a relation, not of domination by means of
force, but of consent by means of political and ideological leadership. It is the
organisation of consent” :
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John Rawls
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“Violence is a precondition to liberation. It operates in two directions: internal to
the colony among the colonizers and external in the formative conflict between the
colonized and the colonizer” = who among the following considered this in the
context European colonialism in the Third World?
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The principle of “letting a hundred flowers’ bloom and a hundred schools of
thought contend” was advocated by:
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Which of the following terms are associated with John Rawls?
806 Doy 27°S T°S ) @ D0HO0IDAID DD?
A. The Original Position
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B. The Veil of Ignorance
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C. Hegemonic Morality
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D. Goodness as Rationality
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Read the following in relation to Dharmashastra and choose the correct code:
¢8| T8 020500 808 3R S0 SHOAN AT TR
DONE0A:

A. It upheld the ideal of an indissoluble union between state and society, and king
and subject.

20 T°BL0 HOA JSFB0, Te HOAM ORI D¢ DSDAHT
QOD0R0 ¥ edT7A) M00006.
B. The King and Danda, the Spirit of Punishment (the power of sanction) were
both of divine creation.
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D. To disobey the King was not merely imprudent, it was dereliction of Dharma
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E. Taxes were the King's income and they can be earned as desired by the King.
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Assertion (A): Kautilya believed that it is the King's duty to seek material gain,
spiritual good and pleasures.
1280 (A): 278 S0, i SHOW «HO0 esdoTe FHE S0
072 B3 O @) TEes O4F S0t
Reason (R): Kautilya thinks that for a King to attain his goals must create wealth,
have armies and should conquer the kingdoms and enlarge the size
of his state.
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It is considered by the scholars that the following is intended to be a satire of
Vedic arigin myths which undermines Vedic claims for the intrinsic superiority of
the Brahmins:
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Read the following in relation to Zia-Ul-Barani's political ideals and choose the
correct code:

2AT-6T-200 T3809 e )0 H020H0D 806 TR HS0E
5005 ST EBL DOES:

A. The Sultan must desist from five mean qualities such as falsehood,
changeability, deception, wrathfulness and injustice.

TR ©2F0, 7)), IPV0, F0 BN e ;a0 5083 ¢
QI O ere) ok drdorr sowmd
B. Differentiation between the determination in the enterprises of the government

and tyranny/despotism was necessary to command faith, fear and prestige
among his friends and foes.
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C. Barani apprehended the ruler as the curator of justice and described power and
authority as the two major components of efficient kingship.
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Read the following in relation to Kabir and choose the correct code:

ED55 020000 808 3R B9AS0A SHBAN BN F&ED JoTHE0A:
A. Kabir was critical of traditional religions of any kind, be it Islam or
Hinduism.

06 ) DB FFOITAN DTOX) DNBJOTE, &8 A0 B
2 OLP 080

B. During his lifetime, Kabir was liked by orthodox forces of both Islam and
Hinduism.

e85 ZNSTO0E, D6 QT DO SFOLT S0 TINE ST
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D. Sikhism embraced Kabir with great enthusiasm with their holy book Adi
Granth comprising more than five hundred sayings of Kabir.
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Who among the following considered that Hindu customs responsible for the
miserable plight of the widows and while Shastras had given different views in
regard to the child marriage but customs compelled them to oblige the reckless
patriarchy?

D50e83:H© IONAOH DVBE SFOLT eSTTT N TEEINAR HOCA 23edE
DFFOL S020H0D TN 55 TN @EEPAITFOD 2D )90 1838,
STTED TG £ Db iz 8 EePad GOLraDA) 806 B a3t
)0 ?

Options:

Bala Gangadhar Tilak

| & OO oS eser§

Kasturba Gandhi

- g0 oS

Mata Mahadgvi
3. % oWPE 0 TIa)

Pandita Ramabai

4 DOGed BSr2ron

Question Number : 87 Question Id : 51714410894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Read the following statements in relation to M. N. Roy and choose the

correct code:

M. N. 2098 50220500 (B0 & ;2560 13¢50 aHBON BN THD

QOS0!

A. He strongly believed that the Marxian interpretation of history is defective
because it allowed no role to mental activity in the social process.
507,100 0[S o areed0 € HATFANROTT 0N s (e
ST, DOEOT) 9 RrTes (HISOHE sTsdE S8 sEeTrOR)
DE0I0E3 (50D @DDBOIBN.

B. He considered that ethical foundations of Marxism are relativistic and dogmatic
owing to an untenable psychological basis.
29500 o370) )20 T8 ITCENEN A0 T DO DATH0 @
2PDOTTCR, JOCNE0E) @8) sITGTIPH0 520 SrdRE [aPed0ES
tseor) Q.

D. He opined that subordination of humans to the factors of production is a

neutralization of his autonomy and creativity.
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Consider the following in relation to the Practical Vedanta or Vedantic socialism. of
Vivekananda and choose the correct code:
AI50E BrEES Frosd B S0 TR H020H00 §0d
3R HONF00B. OO BN FBA JothFoR:
A. Removal of poverty, eradication of illiteracy, restoration of human dignity and
freedom from fear
50 ABP IO, AEE T8 DEP IO, S TETR), )RDEB0IS0
00050 25090 Hod Dsnd

B. Availability of spiritual and secular knowledge to all, irrespective of their caste
and class

500 00 S0 0200 BROR ©0KBS e85 SHOOM
e3"85 20 @S5

C. The ending of all monopolies, religious, economic, intellectual, social and
Cultural
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Consider the following statements on the types of non-violence of Gandhiji and

choose the correct code:

TPO&Z earonr 65702 & (806 7 ::0 DBRES0LI0R HBOD ST

R D0V 0d:

A. Non-violence of the Brave is not adopted under compulsion and the basis of the
non-violence of the brave is morality and inner strength.
B52:50650) e95T0N 2OS0SOTP L5801, TE550608) esF0E
SY0 s SHOaM e@oesdes 200

B. Non-violence based on Expediency is the result of weakness and helplessness
and not of moral conviction and is used for the fulfilment of selfish interests.

Fre)2Ss 9ar0 0RO WO, DD)FaS HOB0, THE DT 50 T,
2O 738 (DATETO FURR) §'N0 TR0 0.

C. Non-violence of the Coward is the worst form of non-violence, Gandhi would
prefer violence instead of accepting the non-violence of the coward.
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Which of the following are the steps advocated by Jayaprakash Narayan to
achieve his ideal of ‘'Sampoorna Kranthi'?
ROV T ONED S0d e3¢5 305N "0y (5°0e3'R OOV ETRE
1806 T8 & G¥ed Srdowe?
A. The creation and organization of people’s power
9230 35 T0E) Dgal HOA HOR
B. Total and revolutionary change in all aspects of public life
2P 2DS0T'R ) @0TOS J0JFY DO DDaTedE0 D)
C. Development of people's government from the lower level
BDed 0N DOB (DB (20655 ©9DIYE
D. Gradual withering away of the state
2350 (SN0 Scda M 8P3C80
Codes:
§Gen:

Options:

A B.CandD
A B, CbdawD

A, B and C only
A, B 20005 C oS0

B. C and D only
B, C 0005 D Sre5ad

A and B only
A SHBOSL B AT



Question Number : 91 Question Id : 51714410898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

According to Charles Ragin, what are the main goals of comparative research?
00 T°ASQ (D5°G0, O35 HB S TG (DTS OFe) 2aned?
A. exploring diversity
ST, @@ £A0TIC0
B. interpreting cultural or historical significance
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C. discovering the truth
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D. advancing theory
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Assertion (A): The governments cannot govern without a well-developed network
of state organs charged with advising political decision-makers about

different policy options and implementing policies once they have
been decided upon.
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QPOSTFOTHOR deeXen Al [T OIS TP23f 0P
Ded @B TOON TEID) BHOT DT 2,50
QPON0LIDEN ST® 568, |2ZDTP 5N HoD FOIN
gﬁrﬁ@“PIOlf}@o@.

Reason (R): The modern state invariably includes a vast array of ministries,
departments, agencies, bureaus, and other officiously titled
institutions whose purview may range from the domestic economy to

education, health, the environment, international trade, foreign
relations, and so on.
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(A) is false but (R) is true
(A) 930 5% (R) 2559

Question Number : 93 Question Id : 51714410900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Political Regimes describe:
T 2280% Foden (B2EHY) DE3D D
A. Informal institutions
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A regime based on an anti-liberal doctrine that glorifies the nation and advocates
a warrior state, led by an all-powerful leader, to whom the masses show
passionate commitment and submission is termed as:
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Consider the following in relation to the roles of political parties in the
representative democracies and choose the correct code:

HBAG: (eFarssrieS Tredah arde PS5 H02000D 806 TR
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A. Aggregating and articulating needs and problems as identified by members and
Supporters
20D, DTS HOOD OO IATPED, Mol LN
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B. Balancing opposing demands and converting them into general policies
S BaIrotied D30 TONB0 DB 3R TS
QRPN 22°3 )80

C. Channelling public opinion from citizens to government
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D. Influencing judiciary and perpetuating judicial activism
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Read the following statements and choose the correct code:
808 500 WIS0R HOAW AT TR NoHE0G:

A. Constitutions are not abstract designs, but practical machines that need careful

construction and engineering, and then fo be judged by how effectively they
work in practice.

TaPEOTPED JATHE TN 5%, BT AT°800 OGN 208NO0N
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B. There is no single constitutional design that is best, but a variety of models to
suit different conditions of social and economic circumstances.
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C. The constitution making process in ethnically mixed societies, it is needed a

form of ‘consensus’ democracy that protect the rights of minorities and give
them effective power to participate in government.
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Read the following statements:

§00 ;D50 VAJ0R:

A. Having a broader range of interests (human rights, minority groups, the
environment, peace) than most groups.

TEP ST 0B DY SN (25363 TN, e
DTN, TS0 F°0e8) SOR &0se0
B. A loose and more decentralised form of organisation than groups or parties -

they have been described as ‘networks of networks™ and are based upon the
grass-roots participation of volunteers.
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C. Political methods that are often innovative and unconventional, involving
direct political action, community involvement and sometimes protest action.
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oluntary Organisations
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Elite theory is associated with the following:
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A. Samuel Huntington
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B. Robert Michels
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Read the following statements and choose the correct code:
800 P55 IS0 HOAW DTN TR JothE0R:

A.

C.

Realism is a theory that claims to explain the reality of international politics and
emphasises the constraints on politics that result from humankind’s egoistic
nature and the absence of a central authority above the state.
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. For realists, the highest goal is the survival of the state, which explains why

states’ actions are judged according to the ethics of responsibility rather than
by moral principles.
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The key point in understanding realism is that the actions like diplomacy and

international legal actions are necessary tools of statecraft in the world and
leaders must use them in the national interest.
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Assertion (A): Constructivism is often said to simply state the obvious - that
actions, interactions and perceptions shape reality and reality is not
fixed, but rather subject to change.
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Reason (R): Our thoughts and actions literally construct international relations. It is
not only the distribution of material power, wealth and geographical
conditions that can explain state behaviour but also ideas, identities
and norms.
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According to the following approach, the concept of power is understood in the
context of a set of globalised relations of production demanding the transformation
of the nation-state, and depends on the combination of material elements and
ideas for acquiring legitimacy:
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Who among the following focused on deconstructing the distinctions between
what is considered international and what is considered personal, showing how
global politics impacts on and is shaped by the daily activities of men and women
—and in turn how these activities rest on gendered identities?
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Read the following statements and choose the correct code:
808 30200 tHII0B SO0 B F&D dothSod:

A

Classical realist locate the roots of international conflict and war in an imperfect
human nature while neo-realists maintain that its deep causes are found in the
anarchic international system.

FOITAN TN e0STROH 0N O AN0 T}
PPN @070 S503s9 85276506 HBN0G), N SaST-
FASTEN TR O B FEEP) ©THE ©OSTROD NS

&) DA @d)arobadiet

. Classical realists differentiate between status-quo powers and revisionist

powers while neorealism regards states as unitary actors.

POLITON TaiaT e CHE ) 3500 HBA BNBAY ¥V HEde
26350 $OR S0ErS), ONS HOSP-TNT0 Trerze AbrRed
Q88 HOHBN0A.

C. Classical realists over emphasised balance of power, while neo-realists laid

focus on collective security mechanisms.
O[T0D TRSTENEN 48 Mabeherzedcd) 38 Tar ), 0N SOSr-
TRSTENED Dal B|S DTTO oo VEFE

E. Neo-realists attempt to construct a more rigorous and scientific approach to the

study of international politics, while classical realism confine its analyses to
subjective valuations of international relations.
SOSP-aTATRED LOSTHODH TBS0FO e¢:0HTRE HBO0
BN HOAM FAH VTR, GPFOBOSTEIE (HOHES TS,
0NB A0 PASTH0 TR DINEION 0STSOH N0A0GTE
O30E) s F0D DeNIOF 0N TROR.
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Read the following statements non-state actors in international relations and

choose the correct code:

@oe:%g“@om Noworesy 08358 0% Ho20H0D 808 oD

23832503 DO HTN TR JothTod:

A. To be considered an actor in world politics, the entity under consideration
needs to possess a degree of autonomy and influence rather than the legal
and state-related status of sovereignty.

050 TS 2,8 38 HONBoSREO0D, HOIOIS' &) Hod
8 52T SrO5B0 TBNE) NI, T°e35-0000S WE S0
2 20030 HOAW (DT O &omd.

B. In today's world power and influence are no longer only determined by legal
status and hard power attributes, but also by the extent of an organization’s
network, by their perceived or recognized legitimacy and by their power to
mobilize resources.

T3 190906 48, 1552750 1900 NGNS VB HOO 5375 a3
OF TS TPLT° ST AGON0TIDEEN, TR N0 TNE); TEND) HOO,
0 1115700 B HB0BAAN QDEE, SO NE00T o0 4§
P E0° PG QQON0WDRERN0D
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The following is generally understood as an ability to dissuade a state from
embarking upon a course of action prejudicial to one’s vital security interests,
based on demonstrative capability?

%1806 TQ (BB FrYs0 B0 2,50 S8 I e
DT OE 5 EOR0T BE:0 ErEodotiiom Trerd) AGO0D
DY O B0 @G0 BDeNE It )?
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Diplomacy
| % 3B50

Deterrence

5 o DGO
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The International Criminal Court (ICC) founding treaty, called the Rome Statute,
grants the ICC jurisdiction over the following main crimes:

©07eah EAS §F (ICC) )N 2,0)0850, B 790 e Henard,
&: 508 (DTN VTR ICC @58 DA Hoa™H TVOH:
A. genocide
NeRilale
B. crimes against humanity
ST 208 S5 :BTEOT BTED
C. war crimes
OS0Q Jorew
D. crime of aggression
es|8oE) BEO
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The summary of the main issues of contention in the North-South dialogue is to be
found in:

&8558 2 H02PARS 1HTN DTG @0 T30 DS Eord;

A. The Declaration of the Afro-Asian Conference/ Bandung Conference
e8| F-e300D A 52903 ) 2roc0of $2:3303) B80S

B. The Declaration of a New International Order (NIEO)
e 2080 A0S eG5 (NIEO) 35T

C. The Programme of Action for the Establishment of this new order as adopted
by the Sixth Special Session of the General Assembly of the United Nations
DEIT2LONS 2GS @902 T @63 (BT VAS T 50"
SITO0IDEN 5 es08 W) TR §I0 STt U550

D. The Programme of Action of the Agenda-21, UN Conference on Sustainable
Development

& (ST &5 AP m @ A 02021, UN 5239)0m,) 8m 002N
B0
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Who among the following are the members of the Shanghai Cooperation
Organisation (SCO)?
808 0 A0 DTS DO (SCO) DEDFEN WoI?
A. India
RO (0)
B. Azerbaijan
023023270
C. Pakistan
FERTS
D. Kazakhstan
§238
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Faen:

Options :
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Match the following Non-Aligned Movement (NAM) Summits (List-1) with the place

they were held (List-Il):

8060 TR-0BQ 10008 (NAM) a2 ecd (erd)e-1) ea) 23000

DTS B 0B (ed)e-Il):

List-I List-Il
2pi)E-| e el
(NAM Summit) (Place)
(NAM a2 2¢3) (VE0)
a. The second NAM summit 1. Lusaka
00056 NAM a2 Vv
b. The third NAM summit 2. Colombo
S07C805 NAM 9028 §008
o The fourth NAM summit 3. Cairo
a5 NAM 9026 35
d. The fifth NAM summit 4. Havana
3¢50 NAM 2026 o T
5. Algiers
@@63
Options:
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During whose visit, India and China signed a Declaration on Principles for
Relations and Comprehensive Cooperation and also mutually decided to appoint
Special Representatives (SRs) to explore the framework of a boundary settlement
from the political perspective?

D38 NGNS, 2rESTHI0 HOAN T 020N B0 eS|
NDTSE0 §90 APEPO D 2.8 1H¥ND D080 Braw B0 Trsah
§90 OB BT OG0 TRE), DeIDeN ©F §00VETRS (DSB8
198 (SREN) NODNADOTOR 8180 dgonothimr) H?

Options :

Prime Minister Atal Bihari \Vajpayee’s visit to China in 2003
| 2003 DT @S £330 eSO Ta® DGLN

President Hu Jintao’s visit to India in 2006
200665" 99550080 STV 2208FY 2rSESHF DG5S

President Xi Jinping's visit to India in 2014
201465 96555000 ) 25N0N 2rEHHE DB



Prime Minister Narendra Modi's visit to China in 2015
201563 DT ST D T DB
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Assertion (A): The Gujral Doctrine aimed at building a conflict-free cooperative
South Asia and for these neighbours in South Asia must dialogue
tirelessly over a long period until they have found mutually
acceptable solutions to their disputes and differences.

(DB (A): (D127 DTF050 H0NGED Sored Darsd (5§ erR0srad
Q0005650 & S0P DEVHOE B0 58 7 OPES R
SPEDTE Ha) DTN OO VBT DS )0
SITOTPHTRS HDOLLT O ST S35 DAISO0 rew
)| F0S0TT w8y 23Gare.

Reason (R): The doctrine said that in dialogue, neighbours must treat one another

as equals, must not intervene in their domestic affairs, and must
respect one another’s territorial unity and integrity.

s (R): 02rneaes, SPhardd 2,.80:5%8) dardomr SrEed), -0
@063 ¢330 S50 TROEETSHAD SHO0K 2,40
DS 08565 HO0N QNI TEN0TTOR) VEE0eH0
20,08
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- (A), (R) B0 DADA™ OB, (R), (A)B0 OB added

(A) and (R) are true, but (R) is not the correct explanation of (A)

. AR BOR DAVEM™ IBAS, 5°Q (R) (A) 50 B DedBed 5260

(A) is true but (R) is false
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Read the following statements in relation to India and BRICS and choose correct
code:

PESBTH0 SO0 1D5)0% H020600 808 V0O 563508
001 BN FRD otHE0d:
A. India’s notable contribution to BRICS is proposal of the New Development

Bank (NDB) which was put on the BRICS agenda at the 4th Summit hosted by
India in New Delhi in March 2012.

576 201268 S7:AO 2rESTH0 BTN 465 SIS (D8
SBOTS TEIES &St B 2063 20505 (NDB) 15350 arseT30
008} DI VTG0, 2.8 TS 29890 (8
B. India hosted the first Negotiation Meeting for taking the NDB initiative forward in
August 2012,
estfod) 201265 NDB 15°5a3e0 a0c0%) 80380 §50 2rdsTio 3065¢3
2980 MIIrBTR), G Tr0D0D.
C. The Agreement for setting up the Bank has been signed at the 6th Summit in
Brazil in July 2014.

2505 DT )ENH H0D0HONN 2,000 665 DI 7S 2014, (BRS
&S H0e5%0 ToHRA0H
D. The first President of the Bank was from India.

27:05 F0¢He3 @¢350¢0 erdSADTRE TOAITN
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Match the following Constituent Assembly Committees/Sub-Committees (List-1)
with respective Chairmans (List-Il):

808 Trars0ff 925 Saeden/dd-Seden (arder-l) 0208 TESOS
(e2)e@-Il) 23e80050508:

List-] List-ll
erd)e-l ere)e-ll
(Committee/Sub-Committee) (Chairman)
(EaD 395 -Ee3) (3:9)
a. Rules Committee 1. H.C. Mookherjee
&rdy Ened 3.0, Swwd
b. Provincial Constitution Committee 2. Acharya J.B. Kripalani
EFAN0NS Trarsol ol 353755 J.B. )erd
E: Minorities Sub-Committee 3. Rajendra Prasad
O3 DS ENES RO (HVE
d. Fundamental Rights Sub Committee 4. Vallabhbhai Patel
BRGNS T8 H2 e $302rod HBHS

5. B.R. Ambedkar
B.R. ©@023¢5.6

Options:



Options :

L v a3 b4 o1 d2

, % a2 b3 c5 d

; « a4 b1 c5 d-3

, % @3 b1 c5 d2

Question Number : 114 Question Id : 51714410921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

During the entire exercise of the Constituent Assembly of India the modus
operandi of Constituent Assembly according to Granville Austin was to follow any
of the following principles:

2565 a0 2985 00 WIBIO DeDAHOES TN &S (50
T2200 $25 TBNEY THEE LT ATN0 808 (rEed BAT
00T :
A. Secret voting during contestations
30 DHAHoeS BaFs 8.e30R
B. The Principle of Accommodation
300ed 50
C. Decision-making by Consensus
DSEEFON0 T T AYAN0 S NE NS0
D. The Art of selection and Modification
5976528 DonE HOAW S
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Assertion (A): A Constitution has to be a living thing, living not for one or two
generations but for succeeding generations of men and women.
2350 (A): TPa3:0010 @R6 HHES0MT &0, 2,563 B Boh STredy
8, 5T ST HADED DO |V EH0 20D
oo,

Reason (R): The provisions of the Indian Constitution are couched in general
terms, for the great generalities the Constitution have a content and
significance that vary from age to age and have, at the same time
transcendental continuity.

=5

s (R): 2r8ed TrereofoeS'R d0dden areede HEom
ArOWDT 0N, fTm) rrdedd Trarofo 2.8 aa0ird)
DO (230 55D EOR ) B, 2O 2.8 00 NOG Adwifo
SG5) 0GN T dhahoey 80O Fdario §On
50004,

W,

e
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(A) and (R) are true, (R) is the correct explanation of (A)

v AR B0 DADAET SBD, (R), (A)B0 SBS Dddden
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(A), (R) B0 IBIAT SBXS, 528 (R) (A) &0 OB DS 59¢0
2. %

(A) is true but (R) is false

3 % (A)20) 5 (R) 89
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(A) $3) 5 (R) 2:59.)

ot
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In which one of the following cases, the Supreme Court considered the preamble
a key to open the mind of the Constitution makers and it is a guide to
interpretation of the provisions of the Constitution?

§0& ﬁfmfj 2.8, Ters0l AT 265 S0 I8 BESTOE GFTS0
30407 HOHE30INEN0A B Toer0foS R D0
DoIBOTAS A STFNG)E0M G0 @) T ATIN000E?

Options:

Keshavananda Bharti vs. State of Kerala
SETH0 2rGes vs. SUY T 0

1. %

K.C. Vasanth Kumar & Another vs State of Karnataka

, % KC. 500 50570 & T vs, WE e s



Berubari Union and Exchange of Enclaves Case

- B0 CHFAANS HOAW ST 57035 Bow

Indra Sawhney & Others vs. Union of India

4 % DO0LO ) & @96 vs. SHTAOHNS & B0AAST
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The Constitution of India lays down the following provisions, which though not
justiciable, are fundamental in governance of the country:

236 Trars0H0 806 Q20850 ATI0N0E, ) oG T3S,
0% PO FHMERNO:

Options:

Fundamental Rights
ARV EDY

Directive Principles of State Policy
, v S0IE QrEren

Schedule Nine
UCETED 30020

Residuary Powers
4 % ©IFA ©OTTD
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Read the following statements in relation to the basic structure doctrine/debate
and choose the correct code:

[BFGaLE AT (BT (RE5) AT0S0/TTRE H020H0D 80

T3 0B OO HTN TG JoLE0R:

A. This doctrine posits that certain fundamental principles and essential features
of the Constitution are beyond the reach of amendment by Parliament.

& DT00 072005 R R, (PHNE APEPen SHO0 esdd el
OFEFED PTDOEN T°5T° DeIB% SDEDID T
B. The Supreme Court evolved this doctrine in the Kesavananda Bharati case
TS0 2058 TR D0ED & DT0md)) ErerodoD0d
C. A big issue with the basic structure doctrine is that it's not clearly mentioned in
the Constitution.

PHNE AT DFTPOTFAE DODOAODN D DN DEI0T) &8
Terz0806S IR0 D9SN,
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Match the following Constituion Amendment Acts (List-I) with respective
Objectives (List-l):
806 Tras0 DeIBEd LEPOM (BrdE-) H020HS O (d)e-Il)

BBIGI0GR:
List-I
eapé)e-|
(Amendment Act)
(NedBea 19&)0)

a. The 1st Amendment Act, 1951

155 a3589 L0, 1951

b. The 9" Amendment Act, 1960

90) IGE L0, 1960

¢. The 52" Amendment Act, 1985
5255 908 1980, 1985

d. The 1015t Amendment Act, 2016.

1015 a3 19Q0, 2016

Options:
Options :

| % a3 b4 c1 d2

List-Il
apd)e-|
(Objective)

(©5:50)

1. Settled certain boundary disputes
between the Governments of
India and Pakistan

2665, a8l oD TR BT CY
DO 000008
2. The acquiring of territories by India

and transfer of certain territories to
Bangladesh

ESTF0 OTHT LPETTON
2 0090 TwE'33¢80 B AGa)
2Srerre) 260¢6)

3. Goods and Services Taxes
2E0HEN SHBASH N DN
(GST)

4. Securing the constitutional validity of
zamindari abolition laws

20000 B BI&Fen a0l
DENPENA P00

5. Political defections
o809 DTPON0)ED
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Consider the following in relation to the Committee on Estimates and choose the
correct code:

0T E20¢38 020600 §08 are3R) JOMEI0I0B SHBAM TS TG
JOTHTOG:
A. It consists of 30 Members
2006’ 30 HOO ez GOEFS
B. The members are elected by both the Lok Sabha and Rajya Sabha
HEDzen 65°5:525 HOA Treszeses BoB0od T ) Fadserdd
C. A Minister is not eligible for election to this Committee
08 &1 EEIE DN ET%s eotfes Besy
D. The term of the Committee is five years
063 D0 D Hosdes TR
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The Government of India has set up the National Mission for Justice Delivery and
Legal Reforms in August, 2011 with the following objectives:

2565 (35206550 iy, 201165 & (808 OTIOS TS NS N6 BYD
BOSO @208 O6S 03531 T°1ED TROE:

A. To study and recommend increasing the strength of judges in the Supreme
Court and certain High Courts

DDOED HB0M ) TEHOS Teahirde Howsd DODEA)
(5000 TR Narth) TADGO

B. Increasing access and reducing delays and arrears in the system
QIPEINQ OG0 HOAD VYN’ 27%BrPzen B0 TN
lileinlete

C. Enhancing accountability through structural changes and by setting
performance standards and capacities
AT EFSE STPEIO T 5T DSBS 1HTPEFED cDOOR AFDT LD NE

DONBO 507 BT TOSTR), VOTFOHOIG0
Codes:

gEGen:
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Consider the following in relation to the Union Council of Ministers and choose the
correct code:

30(89 DO HOGOE H020H0D 1806 3R HBHEB0I0E HOC

BN F& oS

A. The Council of Ministers is headed by the Prime Minister
D01 HOO) (DTHD0IE Tebyes206Y S0EN0E

B. It aids and advises the President in exercise of his/her functions
20 T a068 ©8/eD DO DB 1000 JFAHO TR0
DB DO 20O

C. The Prime Minister is appointed by the President, who also appoints other
ministers on the advice of Prime Minister
DT 0(B) T 32eded QODT ), €965e/E5 [T000(E O
SO Q8G 0O EPT V0DV

D. The Council of Ministers is collectively responsible to the Parliament
010 HOGE POENE DT 2PeIEed SaTFDOR

Codes:

§Gen:;

Options :

1. %



A,B,CandD
A, B, C.00acw D
A, B and C only

A, B 2HBO C oS85
2.¢

A, B and D only
- A, B 200050 D oS|edad

A, C and D only
. A CDOCin D ST 5D

Question Number : 123 Question Id : 51714410930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The Governor is the appointing authority in respect of the following authorities:
§08 @H5HO% 0D0H0D) Hd8) 0 NAIFDE hH50:
A. Advocate General
¢8558 BIGO
B. The Chairman and Members of the Human Rights Commission
2l0%00) a3 5020 Sl WO «0OCSN dghien
C. The Chairmans of the State Corporations
O°la) 5°0 )0Q DG
D. The State Election Commissioner
9 D) 80 ENASE
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Read the following statements in relation to the Inter-State Council and choose the
correct code:

0655-0° 5 «D0GEE 5020500 808 a7 ;D50 N0 DO AT
§GD 008!

A. The Prime Minister is the Chairman of the Inter-State Council and the members
are the Chief Ministers of all the States and Union Territories with Assembly.

[ 000(E3 ©90e55-T°( ) DOGBEO TR HOA TGO N3
0] eN @?\:}oé‘; &) @) 30(GarOeh [TPOTP SNYNO0ERD
2D e,

B. It discusses matters of common interest to some or all States or Union to one
or more States.

30 §Q) B @) TP B OrQoHSE .58 B e@0ei0T)
D80)05 TP BPOR) E5e028 e3008 &) ANATFOD 90,000

C. It investigates and advise on potential disputes on the roles of Governors of the
States.
26 TP (5310 a5 D02 DO HOTEN0E HOAM
HETF AN,
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Consider the following statements with reference to the Election Commission of
India (ECI) and choose the correct code:

2rGed ) 50 D000 (ECNHE 020500 508 i 20130506

B0 OB FED dohFod:

A. Part XV of the Indian constitution deals with the establishment of the ECI
2eh TraPo0eS ) XV 270 ECl 75050 902080086

B. It was made a multi-member body by The Representation of the People
(Amendment) Act, 1996

26 (29230 a8 (NedBEa) L0, 1996 TP ST° DaTVF-023 OV
DoHAR0H

C. The Chief Election Commissioner can be removed from office only through a
process of removal similar to that of a Supreme Court judge by Parliament.

DT AN EO EDASIT aFIR0EN ° 5T dD0E D 70050
SO0 (DE0H T30 SIS DG OB FOA0TIHN,).
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The Appellate jurisdiction of the Supreme Court includes:
D0 §0 T, ©918E 0TS HOOS QD G ow:
A. Cases involving interpretation of the Constitution
o200 DG D0VOA0NN Suen
B. Civil cases, irrespective of any Constitutional question
S T, o) T22L0HNSED (D)8 020850 Boow
C. Criminal cases, irrespective of any Constitutional question
1BNOS TN, ) T2E0MNIBE D 1994) & D000 BHoE®
D. Cases involving disputes between the Central and State governments
3018, T8 [DDZDE® 50 aDEIE DPTEOH) D0D0HODN Sduew
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Read the following statements and choose the correct code:

808 a5 L3I0 DO TN TR JoTHE0R:

A. Under the Constitution, there is no bar to the appointment of a person from
outside the Parliament as a Minister.
05000 (DTG0, aPTR0EN Fendd) 9550 HoBT AAHN VTS
DENI0E3 08 B

B. A Minister who for a period of six consecutive months is not a member of either
House of Parliament shall at the expiration of that period cease to be a Minister.

SN et TOO aFed aFGR0en &H0D HFOS 2D A HOE e
55560 SR NeDATAE DO HENA S e .
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The functions of a Municipal Corporation as laid down in the Twelfth Schedule of
the Constitution include:
2200067 R D0 NEF:DS DL SAD SDQINS T8RS
2 0eED:
A. Slum improvement and upgradation
S008;e @88, SnEEe
B. Roads and bridges
5}6@, 0B
C. Urban poverty alleviation
H8)6 DO QBT
D. Cattle ponds; prevention of cruelty to animals
HHYO THEYED; B0eRYO HE) 15T ) AGHO0LIE0
Codes:
§Gen

Options:

A B,CandD
1« A, B, CBoin D

A, B and C only
A, B 20B05 C S
2. %

A, B and D only
A, B 50005 D oS0 ed)
3. %

A, Cand D only
A, C 0OO5D D 557 e5ad
4. %

Question Number : 129 Question Id : 51714410936 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the powers of the National Commission for Scheduled
Castes (NCSC)?

808 &3¢S 2ra0H AT Hrere) SN (NCSC) @OSTeD D)?
A. Summoning and enforcing the attendance of any person from any part of India
and examining him/her on oath

PESTFOS R o) [POS0 OB LONT® ISTT® DONOTIB0, T
SFHRONTHER) 90D DONO |DPEI0 N 965 AA/eT
508 otcs0

B. Requiring the discovery and production of any documents
DB 939G HEFOD EFIB0 SHBO &eb )8 TashHiso

C. Requisitioning any record from the courts excluding the Supreme Court and
High Courts

D0ECD, IFFDOD MSFoN0D Fhe H0d BT B
2558030

D. Issuing summons/communications for the examination of witnesses and
documentation

P H0 DB FO0 DeDAETZND 20 TAH B0, THIDOTIND
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Read the following statements regarding India's development policy and choose

the correct code:

2G4 ©98)0)Q DR N0 0B O tIEN0G OO

NB TR DothE0d

A. The architecture of India’s post-colonial development policy framework was
inspired by the Japanese model of development.

PESTH0 WL IO @N0e5S @)y d DT DB} VT°EI0 2ar®
2990 ST OB (WG FoB0.

B. India’s green revolution was made possible through the Government's
concerted effort and investment in agricultural research and extension services.

53587 OD HOFES HOA DVGE VIO (206550 TINE) DN EY
O VEPDA T 3T erGSTF a0 DI0 AFI0D.

C. The New Economic Policies from 1991 resulted in the complete paradigm shift
in policymaking emphasizing the liberalization and greater integration with the
world economy.

1991 0B 5D )% T 0¥ DiFaren HEDEGe HOOW (9019 esd¥
3230 DB DSEBEIB EPEISANP DT EFdEe 1S S0
SeSTRT STHE0 TrOSTON.

Codes:

gGen

Options:

A BandC

% A/BDBOC

A and B only
A SHOC5D B Sehead



A and C only
A SHBOD C S ehed

B and C only

4o B oDBO5 C S;esD

Question Number : 131 Question Id : 51714410938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Assertion (A): The complex social changes and the imbrications of various forces,
factors and events in this modern world have rendered the process
of production and recognition of identities problematic.

DBPES (A): 82 RS (HN0TI0ET HO8HITS FFIPRE TS )EN, DI
30D, SUseD, NN DB, HOoJe s 1) e
B0 HO0YE (5D T 5850 ST JOW.

Reason (R): The rise of lower castes, religious identities, linguistic groups and

ethnic conflicts have contributed to the significance of identity politics
in India.

2e8a) (R): @&¢D Soere) Tedrds0, SNeddGn (HB0)e, 2ar
DamFen SHO0K a7 Ao erdsnIosS HBo)
TRSAITE (B0 EhE0 SariaEon.

Options :

(A) and (R) are true, (R) is the correct explanation of (A)

| v A)(R) SO DADAT ST, (R), (A5 dB S Dadted

(A) and (R) are true, but (R) is not the correct explanation of (A)

, % (A)(R)Dock DA OV, 5% (R) (A) B0 DTS Deded 5°¢0



(A) is true but (R) is false
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Read the following statements and choose the correct code:

806 ;N 390G HOAN NT FBD JotHE0E:
A. The Indian Parliament passed three agriculture reform bills concerning the
pricing, sale, and storage in September 2020.

286 PO D00 202065 &8, VE0HO HBAN A s4
DOVOAOIN P 50D M0 080 e SIFrdoR0o.
B. The new laws deregulated and privatized India’s agrarian economy and allowed

private corporations to purchase crops at market prices and engage in contract
farming.
§¢h IEFED arSSTA oo @ e eohoeEdomaw,
| DEEB0TR0, 0BE BEO% HoO Sdifen TAHFRE, 2,008
555006 P IERE | DR 58 18O 0BT .
C. The agitating farmers fel that the likely outcome of these laws would be the

collapse of the public agricultural system, which would jeopardize small
farmers’ livelihood and the nation’s food security.

& DEPO DOSOM 102065 5 695905 23530 e5I0 @a)eNOLN, DA
D), Beh® BISaTO8, B0 3538 256850 3D EORN0ABA es08FS
0NN Been 2P0t

D. Inresponse to the farmers movement, Prime Minister Modi acquiesced to the

farmers’ demands and announced the repeal of the three farm laws in
November 2021.

Do) E5¢55TRE (HBN OB, TR I Tehe) Basroted
00080078, H3020 202165 ST 2355RraD WEPO S
T €0 (D80T
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Read the following statements and choose the correct code:

80O 550 tIdS0B HOAN AT FEN JothHE0d:

A. Social action can be directed against global, universal issues or localised
issues.
PSR TGS (900, A 58 eD5e) B TPAZE00DN HeDid %)
23 :BEOT ABF0I R0

B. To achieve sustained results out of social action, involvement of the people in
the goals and strategies is important.

ST 2982 0B VES DO FOOBTAE, OFT LN SHOCKD
Fo2sFOS 1920 (DDANO SN $0.

C. Social action has elements of conflict, the resolution of which may not
always be through peaceful and totally non-violent means.

o238 1308 00ty A020H0NN 0O SO G0tN0d, 3
D0TL 50 DY AT TOBANESOTT, Lo OrT ST T° ST°
05T

D. Narmada Bachao Andholan was a social action movement.
BT DTS BSOSO 2.8 STl TS GD0.
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Demand for the creation of new states have been regular feature of the Indian

politics. Match the following separate state demands (List-1) with respective states
(List-11):

£ TGP0 DT )N TOTFOT Birof erde Tasaires af e
©040. 800 |9B:8 T3 BSTF0BON (2r8)E-) 0200 To e

(era)e-l) 2e58506%:

List-l List-l
el |
(Separate State Demand) (State)
(19838 T°| BalroB) (T°(220)
a. Coorg 1. Uttar Pradesh
§r0 &S (DDT
b. Mithilanchal 2. Bihar
MHEPOIS AN
c. Saurashtra 3. Maharashtra
PO o) NaF T o)
d. Braj Pradesh 4. Gujarat
125 (D3 haod
9. Karnataka
T8
Options:
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Which one of the following is not a tribal revolt?
8§08 o35 B AD2 BTN 57ED?

Options :

Tamar revolt
e5.00 e3diharen

1. %
Awadh revolt
5 @ 8 esiharen
Bhil revolt
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Munda revolt
4 S OTE edrHaIEn
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Which one of the following is not a characteristic of Public Adminisfration?
& 800 73S HAE @@ RAD BwE) ©F 00 58 NO?

Options :

It is part of executive branch of government
A (DD ¢ ST 1578 TS 20

It is related with the activities of the state
20 T3t 5265005 000N

It controls the political power

, » 20 T250h #50 dabo@Rod

It carries out the public policies

4 x 2O DVE TOIOD BTV
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According to Ramesh Arora the elements of comparative Public Administration
include:
3HRA @B T° (D50 oaredE HET @A VAS TBwE) eoFren:
A. Cross cultural Comparison
065D arom) e sFOS
B. Developmental Dimensions
EEANBIANTo R ATV
C. Ecological perspective
DTEI0ED L9800
D. Goal orientation
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Frank Marini book “Towards a new Public Administration” emphasis on the
following themes:
5705 STOR YNE0 0T e 985 0B VAR’ 82 1800 B &
GTE00:
A. Stress on bureaucratic, hierarchical and technical aspects
& LRI 5098, 18S5Tedties oHBOSH o3l o7 D) 301HE5
B. Stress on social equity
I Dareh 503 S01HEGD
C. Socially conscious and client-oriented view
SR 98T DO Son0ed-eserded DY
D. Stress on Decentralization of administrative process
HORFOT (HB0H DI01HEG 301085
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The emergence of the following is considered as a critic of traditional approach of
Public Administration which was "Weberian', '‘Bureaucratic'.

806 TR 8JTYN0 'FBOOHS, ‘2,8 |5¢35 200 N5 0B VAS
QB8 APO[TPONE DTN0 DeDGIT 20fe30tidA0E

Options :

Systems Theory

Organisation Theory
RN0Q) WT0S0

Hierarchical Theory
Badra(ied Broes0

New Public Management

R DT DRET DHod
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According to Mary Parker Follett one of the following is not a way of resolving a
conflict in organisation:

0 378,06 FBE 19560, 8086 73S 2,563 Do H0sTEaD
2080908 Sr¢0o e

Options :

Compromise
SPO[8° R

1. %



Domination
, % TOTAS

Integration
3 % QO TAD

Fragmentation
4 ¢ BPTHODAS
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Who among the following considered that ‘authority’ as a form of communication?
S0 70 D &3 '@HFTTR) EriR S BwE) 2.8 Eraomr
DOFoTr?
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Chester Bernard
v b To) 0

Mohit Battacharya
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35 S0
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Assertion (A): A society's well-being depends on ensuring that all its members feel
that they have a stake in it and do not feel excluded from the
mainstream of society.

BT (A): Seir230 TBNE) 1F0HA) TS H20EO0NEP %)
TS TP GO OGN HeT230 TE} 1T (eI08
NOG WAFONOWNREER PNOTIROT PN IGOT
s0G G0eN0d

Reason (R): Good governance requires mediation of the different interests in
society to reach a broad consensus in society on what is in the best
interest of the whole community and how this can be achieved.

20 (R): J0B0 DarE WO ThHew TR0 HOAN AN der
FOOTISN) OF TR NP0 A ITEFAF)
FOOVETNE N5r20SR VO, NTBFBTO oDE 8506 L0l
NOFON @80,

Options :

(A) and (R) are true, (R) is the correct explanation of (A)
1.« (A), (R) DO DBIAT OB, (R), (A0 OB Dedded

(A)and (R) are true, but (R) is not the c-::rrect explanation of (A)

, % (A). (R) DO A& 0B, 5% (R) (A) 80 OB Deddiea 5

(A)is true but (R) is false

S x (A)23)) 520 (R) €553

(A) is false but (R) is true
(A) 533 52 (R) 2,53
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Enhancing both internal and external civil service accountability requires:
@0eJeb HOD &%T8 FPE WP BaTNTOBI0 BOG0E3R DGO
LN O PR INTA
A. Improved information systems and accountability for inputs

DR QeI 09509060 DO B)ETOF BTN D0
B. Better audit and face-to-face meetings with stakeholder groups

DTS SAEA B0 FEPTHO HAFTFOS SDETSND) SeIPaTeN
C. Publishing budget summaries in a form accessible to the public

2BE TTOTON (DBOY ©0erenS GoT SPI0S (HTNO0B0
D. A stronger performance evaluation system and scrutiny

DO DRSS S0P 05 23590 SOOI HBTO
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As per the Consumer Protection Act, 2019, the rights of the consumers include:
DA e 85 e 1590, 2019 (05°60, ARGTHT G 780 e0:

A. To be protected against the marketing of goods, products or services which are
hazardous to life and property

[PETOB), e3R8 5 EOROT SeNYEN, teb)een By Wed® S0} 300
0d 35 ovamd

B. To be informed about the quality, quantity, potency, purity, standard and price
of goods, products or services

030H e, €55 IENEN BT NI °EIeH, 0STEIO, 48, 5865,
1237690, O HB0D BOAHBANO

C. To seek replacement or return of goods and service if unsatisfied in three
Months

370 TS S0esyn TOGEND Se0Ien, DI Sr8)A Tabhdso
B 800 Q560

E. To seek redressal against unfair trade practice or restrictive frade practices or
unscrupulous exploitation of consumers

ST 0N TEI; 02100 B NS08 aredas AR S
DATBEHTH AN BGE S:BTLorr HO:FE0 §6cso
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The Lokpal and Lokayuktas Bill, 2011 was passed by the Parliament in the year:
S'5rS H00M S'seoing ew, 2011 rEHoen SITE0NN HoSes)50:

Options:

| 2011

, % 2012

;v 2013

2014
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Which of the following is not a function of Panchayats?
2068 335 Homranese DO 52IE HE?

Options :

Representative
Eed 5O

Regulatory and administrative
B 5S50 HOBD 0B WeE3D

Judicial and law and order
v T WINsTe WM R ATo T LIPATIA T TY

Service or Developmental
0) Bor @98)s59 8
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In order to promote e-Governance in a holistic manner, various policy initiatives
and projects have been undertaken to develop core and support infrastructure.
The following are part of it:

B-H3B L0 I00 DD HOBE (8510 0ITRE, §0 e98)eSyO8 SHBA
STOE DEDTATOF) NQEAT DD DT TS5 Eren HOO (rEPen
Dada@on. 806 TS ario:
A. State Data Centres (SDCs)
o7l G3ET So[men (SDCew)
B. State Wide Area Networks (S.W.A.N)
DS & 2OAST TS50 (S.W.AN)
C. Village Wide Area Networks (V.W.A. N)
DBE & DT TESOLEN (V.W.A. N)
D. Common Services Centres (CSCs)
AP R0 Solmren (CSCew)
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Which of the following is not a part of the NITI Aayog's gamut of activities:
806 3¢S O NITI @T3rh s°8s8erare |3636€S aifo s°eh:

Options :

Policy and Programme Framework
TR0 DO [P e D)

Competitive Federalism
» TONEEID S0

Monitoring and Evaluation
DBDE €9 HOAW SDIEFEOES0

Think Tank, and Knowledge and Innovation Hub
A0S ¢r£05, HBS) TBE o0& AS ) JAS T
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Consider the following in relation to the coverage and entitlement under National
Food Security Act (NFSA):

2A0D e 258 1980 (NFSA) 8065 $5825 005 e9¢ieddy 8020000
800 €30 20HB0I0A:

A. Covers upto 75% of the rural population and 50% of the urban population under
Antyodaya Anna Yojana (AAY)

@009 e96) T (AAY) 806 rahes BarareS’ 75% D005 HE)E
272’ 50% 555 50 0A.

B. AAY households are entitled to 35 kg of foodgrains per family per month
AAY 50e0027e (38 $en02rng ok 35 850 esfdmmr o eden

C. State-wise coverage under NFSA was determined by using the NSS
Household Consumption Survey data

NFSA 80¢5 To(aFe) O §502 NSS Hyer QAT 8 § BeFed
S0rA0IN0 75T Qoo DE0H

D. The State Governments shall identify the households under AAY as per
guidelines applicable

o*a (9920@ 200 300 PG50 (5500 AAY 8005 Baén0oarerd
HOoTTE)
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Read the following statements and choose the correct code:

808 55D 1ICH0B DO DB §HBD JotF0R:

A. Social audit through its systematic process allows the civil society to identify the
gap between the desired and actual impact of a project/programme/service
implemented
ATSrRE ) TR (5D DB T 500 G Deire0 eeden
DONDAD [EPES/ TR TINEY IR DO 7°06) |2TI0
D 0T MBS 9N NOA.

B. Social audit allows people to enforce accountability and transparency in
government service delivery
192065 5 I HODEIS’ BTN TOB0 DO 2SI ¥ eeden
DODTETRE w228 Y (28BN @DBN0E

C. Social audit is implemented in the MGNREGA

T8 Q4 MGNREGAS 56 TaHacenod
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